Past (Irreqular verbs — negative)
(positive answer expected)

S. (present) I don't begin to study.

S. (past) I didn't began to study. {begin, began}
Q. Didn't I begin to study?

S. (present) You don't come to school.

S. (past) You didn't come to school. {come, came}
Q. Didn't you come to school?

S. (present) He doesn't eat chocolate.

S. (past) He didn't eat chocolate. {eat, ate}

Q. Didn't he eat chocolate?

S. (present) She doesn't find money.

S. (past) She didn't find money. {find, found}
Q. Didn't she find money?

S. (present) It doesn't get milk.

S. (past) It didn't get milk. {get, got}

Q. Didn't it get milk?

S. (present) We don't go home.

S. (past) We didn't go home. {go, went}

Q. Didn't we go home?

S. (present) You don't have candy.

S. (past) You didn't have candy. {have, had}
Q. Didn't you have candy?

S. (present) They don't sleep.

S. (past) They didn't sleep. {sleep, slept}

Q. Didn't they sleep?



